
Oxford English (Second Edition) 1A  

Simplified reading and comprehension Unit 4 

    

  

©  Oxford University Press  You may photocopy this page for teaching and learning purposes. 

1 of 1 

Answer key 

Comprehension 2 

1 because he did not want to feel lonely 

2 (i) dusk 

 (ii) dawn 

 (iii) lead 

3 i) lungs 

ii) Yes, many people were infected with tuberculosis in the 1850s. The text states that it 

was a common disease at that time. 

4 A 

5 distressed 

6 i) NG 

 ii) T 

 iii) F 

7 C 

8 B 

9 14/fourteen years 

10 DECA 

11 (i) terrier 

 (ii) grave 

 (iii) loyalty/devotion 

12 i) bond 

 ii) pointless 

 iii) unending 

 


